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AN -1/ PART — |
919 f4re 9 Remems / CHILD DEVELOPMENT AND PEDAGOGY
R« Fraffee oot & ooe 2% & foe =@ oftm Reen g

Direction : Answer the following questions by selecting the most appropriate option.

1. 9 meste 3 AR T B 1. According to which psychologist,

e e # Td |iehin the role of social and cultural factors
P B pEED Bl & 7 are important in the cognitive
o development of children ?
1) m Z)W “1j Vygotsky 2) Piaget
3) W NS 3) Bruner 4) Hull
2. i RgfE & fm @H9-d@ 2. Which teaching support material is
Reer  wems el sw@Erh 9@ not useful for visually impaired
B ? students ? o
1) S el 1) . Braille materials
2) dieri R g 2) Talking books o
3) T fgw -8) Film strips i
4) I g 7FARE @ '4) Embossed map
™
3. I Pnm st ‘e ?ﬂ{ﬁéf’ H TElEr adl 3. The education which promotes
g iR 9@ & foe el @ o= learning by doing' and ensures the
qEAERET & A SR g studenfs interacton with  their
FHH B, I8 e § _ environment to learn, that is known as :
1) fafdre frem 1) Special education
2) SFTsfe fare 2) Progressive education
3) Qﬁﬁ farem =3t 3) Ihtegrated education
4) gHEsy fwr g 4) Inclusive education
Q
4. gaEsh fer @ : 4. Inclusive Education means :
1) HHEINH &9 q dfd Fe= & O 1) Education for socially deprived
farem ’ children
2) e a=t & g Ren 2) Education for disabled children
3) 9MHAA W Remm s= & fo 3) Education for normal and
fRremr disabled children
4) g = B ﬁTQﬁTW ~4) 'Education for all children

‘.
[ Level-2 /1202 ] ;_'..ﬂ P.T.O.
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5. Which teaching learning strategy is
most useful fH? students in context

of social learn:mg €
N
-1) Field trip™M
) Fi Py
2) Lecture
3) Experiment

4) Brain storming

6. Which of the following is notf an
objective type question ?

1) Matching guestions

2)' Analyticafguestions

3) Multiple %oice questions
4) Blank spar& questions

I. Which educational intervention is
not suitable for slow learners ?

1) Acceleration
2) Remedial teaching
3) * Drill work

4) Cooperative teaching method

8. When the lessﬂ)n to be learned by
a child is lqﬁg and difficult and
requires a l@ of understanding,

. then which me,thod of learning will
be appropriate ?

: 'T) Spaced method
2) Whole method
3) Massed method

4) Incidental method



9.

10.

11.

12.

fesmaen % wiga amiie @@
Vet & WU 7 e @ e SR
(a) g HIT

(b) 131 1550 4 s
(c) STE-Hiadar -'ﬁ:f":
(d) Sigaea s
i?‘ .

D @ W@ (k) 2) (b) W (@)
3) (@), ()W (c) 4) (a), (c) T ()
Frfefea & & F-w g0 sheRen
3 it oo o R & dey #
el 78 B ?

AR Rrela ofodes
) W@ i Reia CeRhe
2) AR TEIHEA Al

R

3) uone fid geay

4) It STRERTN R-ENIKE
EAG] |

frefoied & @ @9-a1 gRa # T

foraTee qerr 7ef R 7 :
1) g B Aih (SO, IR
2) UQETSY & YrE-UAT THe
3) AR HH S G
4) WARS-fom qer

frfafa & & dF-a1 fTwe & &

Ryl 787 & 7 :

1) faer oaReRal T qEeRer @
IS B

2) feraT® Yot qargag B Bl

3) ?ﬂmwzﬁrwm
| .

4) Reg o= & R @ &R
Tedl 2

[ Level-2/1202 ]
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@ Choose the correct code for the

®.

(8y

12,

approved sogial behaviour pattern
in adolescenge :

(a) Leaders}ﬁﬁw skills

(b) Empathyt™

(c) Ego-centrism

(d) Stereotyping

Codes :

) @ & () 2)(®) & (d)
3) (@), (k) & (©)4) (a),(c) & (d)

Which of the following pair is not
correct regarding motivational
theories and g”leir proponents ?

MotivationakDheories Proponent

1) JInstinct tgr%ory ~ Atkinson
2) Need H%archical Maslow
theory ©
"3) Drive theory Woodworth

4) Achievement Mc'Clelland

Motivation theory

Which of the following is not a
performance test of intelligence ?

“1) Koh's Block Design Test
2) Alexander's Pass Along Test
3) Saguine Form Board Test
4) | Stanford-Binet Test

e
Which of tH® following is not a
principle of dgvelopment ?

1) Developffient is the product of
heredity and environment.

2) Developmental pattern is
predictable.

-3) Development follows linear
path.

4) Development proceeds from
general to specific.

P.T.O.
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14,

15.

16.

[ Level-2/1202] : 7

) (@@ (@)

2) (a), () W (d)
8) (@)W (c)

4) (@), ®), (c) (d:)ca

Frafofed & @ @S-8 Resirezen &

g Jea # T qEeg s
787 B ?

864

(3. According to Gagne, to what

14.

15.

highest level of learning should a
teacher strive to take students ?

1) Concept learning
2) Problem solving learning

3) Rule learning
4) Discrimination learning

Choose the correct code of the
following factors, which affects
learning :

(a) Motivation -

(b) Aptitude

(c) Interest -

(d) Attention
Code:

Y (c)&(d)

2) (@, ®) &)
3) @&

) (a), (b), (c) & (d)

Which of the following is not a
common characteristic of social
development in adolescence ?

/1) Harmonious relationship with
parents

2) New social grouping

3) Search for identity

4) Hero-worship

_ Which of the following factor does

not influence the development of
child under environmental factors ?

1) Nutrition

2) Mental stress of the mother
during pregnancy

/8) Accidents

+4) Endocrine glands



17. SENT o Py ug ‘ST R
Mo’ difers & aftem R @
iﬁ?ﬂﬁ B e & fram A g
G !

1) OO &
2) MR H Py
3) WWE T Fray
4) g uibea @ Py

18. FrfvRe ¥ - Rdwar R
BN SioaRa dstres R R
%ﬁ?ﬁﬁmwamﬁmaﬁ

1) SohTolaer (verer @ ar)

2) [ ﬂ.‘
. 8) SR g .
4 W b

19. oiFm FEfg s=f & fg @e-ar
R @ @me 78w e
1): 9 J e
2) orgd ¥ il
3) TN O AT
4) G 9§ W

20. FEwE B E REw R @
HA-A SR (RERE AR B
R gt 78 € ? |
- (a) AR W R
(b) 3T FIARIH GEY -

(c) WD el ST &
(d) s oy R A
SAHR

7 T o AR
1) @ W @M 2) (b) W (c)
3) (@ W (d) 4) (c) W (d)

[ Level-2/1202 ]

Law of use' #fld Law of disuse" ig
related with which law of learning

according to?\?ihorndikc's learning
theory ? 1\

[7/C]

1) Law of rea(ainess

2) Law of exercise

3) Law of effect

4) Law of multiple response

18. Which of the following
characteristics is not related to the
concrete opé&tational stage of the
Cognitive velopment theory
propounded Ly Piaget ?

1) Reversibﬁ%y
2) Serialization
_3r ‘Animism
)(k) Conservation

19, /Which teaching maxim is not
‘beneficial for the
disabled children ?
1) Simple to complex
- “2) Abstract to concrete
3) Direct to indirect
4) Known to unknown

learning

' 20. Which stages of Kohlberg's moral

developmentfeory are not related
to level of cofPentional morality ?

(@) Individualibm and exchange
(b) Good intqr?personal relations
(c) Maintaining the social order

, (d) Social contracts and individual

rights
- Choose the correct code :
Code :
) @&® 2) (b) & ()

3) (@) & (d) A (c) & (d)
LR PUTRO.
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21. frsifefaas o Q@ P Fraw
SAfieRe @ wdfg 78 8 ?
1) 99N &1
2) Pt i{zﬁn
3) uikrm= Em

4) n’ﬁ?fasrhv@

22. fr=fofes & @ f-w arw R
gf??m ashar @ sl 78
1) Ruers & mORe w9
2) R @ "R @
3) P @ Rwyeyg T
4)#%%%9’@6&%{

23. W%ﬁm%ﬁm%w
ﬁ?&ﬁﬂw%
U

1) Ao geredare @ erawer
2) s AR & oTaRen
3) ORI Hfcrhar P STy
4) @I A @ are

z4.%aﬁazsﬁmaraﬁ%aﬁﬁﬁaﬁ=r-w '

Waavzs‘f%?

1) ﬁéﬁa@ﬁﬁﬁww—m
T aa I

2) aahaasﬁﬁmﬁé‘rweﬁ%wa
# foeem B0

3) JafRts Fr=ad oTge @Emer &
AR N ST Hal B

4) qafRTH BT daw SR
Eﬁré’rqﬁ“rrqsﬁr%l

[ Level-2/ 1202 ]
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21. Which of the following laws is ng
related to heredity ?

1) Law of Similarity .

2) Law of Variation _j{',,

-3y Law of Regression

4) Law of Progression

22. Which of the following factors does
not affect the teaching learning
process ?

¥y~ Physical appearance of teacher
2) Mental health of teacher
3)" Content knowledge of teacher
4) . Communication skills of teacher

@ According to 'Moral Development
: t_heor}/r of Piaget, adolescent period
is: '
1) Stage of moral realism
2) Stage of morality constraint
-3)” Stage of heteronomous morality
4) Stage of autonomous morality

@ 'VVhich statement is nof correct in
context of individual differences ?

% Two persons are not exactly
' same. '

\.\aj/lndividual differences are
deviation in regards to
characteristics.

. 8) Individual differences
distinguish individuals in their
totality.

4) Individual differences are the
sole result of heredity.
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25, S19UE ud fes ) rmrm nftknaif 25. Learning through . mental
B R v b processes  like  attention  and

raflection io (.g,llcd

P
1) STgHIEE 1) Imitativc(garning

2) T WRE 2) Motorlezmmg
3) HEHIeTh ras MCOgnmvuearmng
4) AETEH WE

4) Affective learning

26. Fr=foReq & A P=-wr ol afepry 26.

X Which of the following is not a
o o 7@ &7

principle of effective learning ?

1) SfERem 1) Motivation

2) AR q§1—:{ 2) Individual approach
3) ffera SuRafy ~/a‘/Passwe aﬁendance
4) fge

4) Peedbacg
' ‘ (e8]

271.. The true meaning of continuous
and comprehensive evaluation is :

21. gaq Td AU | qRET B 78 i

(2) TR GOemd e

(b)augaam%aﬁﬁw
TR T

(c)mwaz—%maﬁq&ﬁw,

TRIHA BT
(d) Faw A Iuafer A

- @E T F =TI HIN
%< -
1) (b) T (d) o
2) (b) T (c) | SR

3) (a), () T (o)
4) (b), (c) T (d)

[Level-2/1202]

"

(a) Taking frequent tests

(b) Taking continuous
appropriate intervals

tests at

(c) To evaluate scholastic and co-
scholastic both aspects

(d) Measuring only educational
achievements

Choose the @frect code:
Code w

1) () & (d‘B

2) (®) &(c)

3y (a), (b) & (c)

4) (b), (c) & (9)

)

P.T.O.
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28.

29.

30.

o i wRag @ e @ g qu
MR o] W iR H N W I
H R

1) ReReRym

2) Rwfwmy

3) Rumftn

4 Redoga®

wiwl & B R A e 8
R A9 qegel iR I R o 7

() YD

(b) ST -

(c) Sihars

() TS

Tel FT T TIT HIN
1) (@), ®) Q‘cﬁo’(c)

'2) (b), () TH(Q)

3) (a) (b) TI)

H @ Ty
ﬁaaﬁa%agdm%miaﬁwﬁﬂﬁ%;
W P SR B Her s
HA-A FRE TAH & A R
7T H B ?

I)Gé?qm”r%:r@?ﬁwwemécrgéa
R
2) EuEH H gAEhT

3) it amgyer
4) IF B FHH

28. A learning difficulty that create

29.

Y@, ® & (9

30.

problem for a child to distinguish
letters and words is :
1) Dysplasticia
J)/f)yslexia
3) Dysgraphia
4) Dyscalculia

Which three aspects of
intelligence are emphasized in the
triarchic theory of Sternberg ?

(a) Componential

(b). Experiential

(c). Operational

(d) Contextual

Choose the correct code :

Code :

2) (1), (© & (d)
3) (@, ®) & (9
4) (@), () & (D)

A

In Pavlov's conditioning theory,
which factor does not positively
affect the conditioning between
natural and artificial stimulij ?

1) Appropriate timing of "stimuli

presentation
2) Repetthion of stimuli
3) . Controlled environment

4" ‘Lack of motive

[Level-2/1202] :‘_.-.;I
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o
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Y S A=k AU gH 35,%@@?{%%@@%«.

A7 9 - = Oy

2) 9= - Rt |y

3) WeRE - gRg wR wfY

4) TNYS - 1 @) Gy

32. 9 T & =t acife aighs

T B 7 |

1) gdeH, s

2) AR, grad

4) TEANS, YT O

33. TN B RN R wm H deE §
SE-91 IH HTGIT © ?
2 B 98T S HeF R = gl
2) & feelt 7 71 g @l - oW
3) HE HH B B gV — foeh
4) foora i st g =87 - fasitT

34.ﬁwﬁﬁ2§fﬂ—wﬁ‘ﬂ§q’zﬁr
wigar 78 ® ?

% aTq [ LS
2) 2 5
3) [ad
4) HER
[Level-2/1202]

aedl ad ® -

1) vea @ ae § 9w
) SIS G Bl Bl

3) i & arg T @ gen e
4) AT d HH TA0

<! - . P
36. &9 \Qﬁw i  H  ‘FRau-FREEr
T3 B FA: g ag T ?

7 wfR, e 7

37, W % WeEg A Eﬁ?—m.ww TET

2

1) SfkaEs SSel & JEN W
(s & i) ChaEe d
@R@‘%l

2) I WRR, T IN ARKEED
. G D SR B

M@ﬂ]ﬂ?ﬁ’ — T,
Sifares G5 3 & 9% "M 9
]

4 REmr, witw Sw@ A0
Aqdras G5 & IaeI0 g '

a1l ﬂ P.T.O.
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38. Rem g= @ wog A -G FH
FGTT § 7 ‘
1) gt - [
2) Ry - dug
_3y a%vg - Rl
4) IoEl -

39. I @ R Fea R
T=-FH FGTT B 7 i

40. M & d9Y H HH-@ FH. M
7R -
1) HH ST AR Tel - GHureh
o < e
2) Wﬁﬂ‘%%w%—
) HAfIgEgErEh T
3 5 A A R = -
JeaTe, e
4) I8 @I B IR @ S -
fotaras g™
-« :
41. T &l BIF-91 gAUS S7q
T 3 7 ARG 7 ¥ 7
) TeeRe - 8 age
2) IS ~ AHT Yoy
4) NFEITYT - AR TYoY

T

yy o Pt @ A A

e 20 B, 30 fadew F20 &
2) ‘e, . &, < I A=
Wﬁm%m%x
3 @ ¥ @w B T ¥
e AT M IET T

gy e Rdwer # R g 3
AT ar At F A B B

43. R # @ aﬁ%—m 9T STICHA
hed s @ Ml 78F B 7

1) I L2y B
3) arged 4) 3T

44. 97, ‘@ A ‘T IFT GON H FHH

TR W B
/k)/a@w,aﬁ% :
2) &, IS, g %?,'ﬁé
3) %, g, g
4) 9IS, HUS, dg
45. 50 ey &1 T e
a8 R 7
1) H TR T T
2) T® W BT e & I B
3) i WM S ST S

AR IO B BE 9
T B

fsham g
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46.

41.

48.

49.

Choose the option that gives the
correct meaning of the given
phrasal verb :

Give in

\'r)/ distribute 62')/ deposit

3) donate 4) surrender

<
O

Fill in the bﬁ?lk w1th the most
appropriate mpqlal auxiliary :

Your mother g seriously ill. You
........... leave for home at once.
(obligation)

1) needs 2) might

3) could 4~ must

Choose the correct preposmon to
fill in the blanks!

O
He told all ...... oo. the incident.
1) between 8 2) among

3) beside (QA')” about

Choose the. rﬁost appropriate
preposition to fill in the blank :

I am going home the day ...........
tomorrow.
1) in 2) on
<
3)” after ®4) at
00

o .
50. Choose the ynost appropriate

[Level-2/1202] 2

preposition to @1 in the blank:

Mohan gazed ............ the sky in
the hope of rain.

bl’}‘/at 2) unto

3) besides &) into

it |

51.

&

53.

Choose the correct option that
gives the correct passive voice of
the given sentence :

' Have they done the work ?
1) Have the work been done ?
2) Has the work been done ?
w3‘)/' Had the work been done ?
4) Will the work be done ?

Choose the correct tense form to
fill inthe blank.

The Headmaster ............ to meet
you.

1) want
va')/ wants
3) iswanting

4) was wanting

Choose the part of sentence which
is incorrect :

Has Sachin / not breaked / the

&) (B)
record held / by Bradman who
() D)

made 10,000 runs in his career ?
1) A

2) B gy

3) C g
4D

P.T.O.
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54.

55.

56.

Choose the correct option to fill in
the blank :

........... had the police reached
than the thieves fled.

2Y" No sooner
4) Aswell

1) Assoonas

3) Scarcely

Choose the correct tense form to
fill in the blank: .
She jumped off the train Wlule it

---------------

‘«2’)\/ had moved
3) hasmoved 4) was moving

1) moved

Change the narration to Reported

- speech and choose the right option :

I said to him, "Do you know When
she will go home ?"
£ I told him if he knew when she

will go home ?

2) 1 said to him that did he knew
when she would go home.

3) I asked him if'he .knew when
she would go home.

4) 1 said to him 'that did he know
when will she'go home ?

@ Choose the correct option for the

given one word :

Sinecure =

1) one who lives by himself

2) an office with no work but high
pay

surgery without anesthesia

Ry

cure by naturopathy

lyﬁ

&

©

@

Choose the option that gives the
correct meaning of - the giver

phrasalgerb :

Send fog

vr)/stalfpn a journey

2) rea@ to a decision ,
3) call someone 1n

4) improve

Choose the option that gives the
correct meaning of the phrasal
verb :

Turn out

1) to ecéict someone

2) to kil someone

3) to r
-4’)’ to c_:Ure legal notice to someone

icule someone

Fill in the blank with the most
appropriate meaning of the
underlined idiom :

Rakesh had to deal with all his
problems by himself, because he
didn't want to depend on his fair
weather friends.

1) Friends who come from rich
fam\i}y. ' .

-2Y” Fridflds who are loyal only
duxtng a time of success. .

3) Fri@jds with whom one lived in
ond'g college time.

4) Friends who no longer live
© with you. ‘

[ Level-2/1202]
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v, e SIRNEHAT T T S G aife / Quantitative Aptitude, Reasonmg

Ability and G. K. & Awareness

ey : Preffed 99l & SR 3 @ R qad sh R g

pirection : Answer the following questions by selecting the most appropriate option.
Ducr

w War &, AL R ¥, B, v #
o ¥, T X DxE B T Y A, Al
Rrfied T @ @-a e
Fifted &7 & w@NTE & 7

1) B,A & Uil

2) B®H T T8

3) XA®T &

4) Y,Z ® T 8

R A <R Rem 7 8 fEl R qw
e X% Joh< 6 bl = © aun
g Ju-gE Rem H gt 10 RER
Il &, ﬁrAnﬁ{ﬁw%@@fﬁﬁ‘rﬁ
@W%? kQ .

1) o f&t m) 81%5‘?[
3) 10 fFAI m4) 12 fpmt

7R 10 =P Bl A U
4 & & 8 ’F &, sE
3 99 @ @ 12 R Ehaa @
mmﬁaﬁaﬁﬁmamaﬁ

1) 6 2) 8
3) 10 4) 12

<H
T T X Th
3%%
eqaf%ﬁqre%pﬂ qi%iim
576 &9 A B, AHEHH
1) 4 gt
3) 6

[Level-2/12021 9
1 :.: :

61.

62.

63.

o:lr.\a

64.

ib@ﬂ”

w
:

' 62.

In a family, A is the father of X, B is

the mother of Y. The sister of X and

7 is Y. Which of the following
‘statement is definitely not true ?

1) Bisthe wife of A

2) B has a.daughter '?,,
=3y~ Xisthesonof A. =

4) Y isthe sister ofZ

61.

If A walks 8 km South then turn
right. and walks 6 km and again
turns North-East and walks 10 km.
How far is A from the starting
=L point P |
“ 1) Okm

~+ 3)-10km

2) 8km
4) 12km

— 12

_ . "
If 10 persons can complete (-gj

of a work in 8 days, then how many
persons are required to complete
~ the remaining work in 12 days ?

<2y 8
4) 12

1) 6 -
3) 10

The base of a right prism is a
triangle whose perimeter is 32 cm

-and the inradius of the triangle is
6 cm. If the volume of the prism is
576 cc, then its height is :

1) 4 cm 2) 5 cm
L3y 6 cm 4) 8 cm’

64.

P. T.O.
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65. ARk ux Fafm agger # fwl @)
gen 21 @, a0 gad gl @
dern arf
%06 2) 9
3)810 4) 12

66. ACHH wigel A w1 B F, dfar aur
ST @ 3 U B : 2 TAT 3 : 4
%,gqﬁamgaﬁffﬁkw7ﬁo‘m
Td B & 21 fhn Pt @ +E fyy

g a9 8, sfaas‘&ramgﬁA
aﬁwmﬁwﬁw% T
3 2

1) 1:2." 2) 2:1 g
./3)§2:3 4) 1:1 <
qﬁ?cosecO—ScotO—YﬁﬁO
Iqeist § 8, @ 7 cot 6 — 3.
iﬁec@qﬂ’ﬂ?{% v
1y 3 2) 5 A M.
3) 3/17 4) 5/1 5 4
S V\vaé

68. dR WH gu ¥, GHOEHETE Be ABC
wﬁ%amag(%,ﬁﬁﬁ%aﬁﬂﬁ@rjé
@ T R Yeet @ a amy
PBregst 8 <
1) fqumerg Brge
2) GHigaTg By
3) wHATg P
4)@;@%%{%

CO

69. TR IHR, ThH 15% @9 W

3 2 o o oF 18 T o

[ Level-2/1202]

T G 2, Fhamle%atﬂmnw

m@asrmw(w?ﬁ)%

1) 600 2) 540

B

66.

\
")

617.

69.

3) 350 4) 380

65.

v
Y
L] &
'//" : .‘%

If the number of diagonals of a
regular polygon is 27, then the
number of sideés is :

1) 6 2), 9

3) 10 / 12

In two alloys A and B, the ratio qf
copper and zinc is 5 : 2 and 3 : 4
respectively. 7 kg of alloy A and 21
kg of the alloy B are mixed
together to form a new alloy. What
will be the ratio of copper and zinc
in the new alloy ?
1) 1:2 2) 2:1

2:3 4) 1:1

If 7 cosec 0 — 3 cot 0 = 7 where 0is
in first quadrant, then the value of
7 cot 0 — 3 cosec 0 is equal to :

3 2) 5

"3y 8/7. 4) 5/7

I an equilatéral triangle ABC be

inscribed 'in a circle,- .then the
tangents at their vertices will form

another triangle is :
1) Scalene triangle

Isosceles triangle E‘zgy 'E,

3) Equilateral triangle

4) Right angled triangle
A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more;
he would have gained 18%. The
costprice (in Rs.) of the article is :
1) 600 4y 540

4(3{ =24 4) 380
-
A ‘go?i%é\ W

U
Sl \
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o+ b
No -1+ Y

70. QR fEd § T den 70. Find the wrong number in the
. gwen senes
0,3,9, 12, 36, 39, 42, 120, 360 56,1236, 39,442 120, 360
1) 12 2) 39
1) 12 o@) 39
3) 42 4) 360 ” 3) 42 «p’ 360
% ("

11 QI e AR 3 g, uR 71. The difference = between two \i’;
ST T W A 369 @ UG positive numbers is 3. If the sum of 9
deet & A g wy=d their squares is 369, then sum of %L

129=267 the numbers is . WSO\
1) 25 2) 21 39y =36, 1y 28 : 27 2 ¥
3) 31 4 sydyry=361 W oS
) 33 ay 734‘1 3) 3l 4) 33 44
ayﬁqu’fr i ‘ ‘ ‘ }b/
216y~

72. faoeE 3 R E7) &FT%FI q ﬁ‘*ﬂ\_ﬂzﬁm 7 72. In adivision sug, the divisor is 12
T T 12 AT T ANET H1 5 _y | times the quoti@t and 5 times the
T B, A IR I§H AEA 36 &, @ gt~ remainder. If tied remamder is 36,

HIg % 0 4 then the d1v1de1$§ is:

1) 2706 2) 2136 o 1

) ) 273 S N 1) 2706 2736

3) 2796 4) 2166 =K{, % o 3. 2796 4) 2166
: St e

13. 9% A RSN @, B AW & 73. It A denotes 'divided by', B denotes
‘e H’ qT D ﬂ;“ﬁ &’ Lﬁﬁﬁ ~ 'added to!, C denotes 'subtracted
A % @ 20 C 12 B' 8 A 2 D6 D\ﬂ;""L from' and D denotes 'multiplied
RS A‘ gbt by, thenZOClZB8A2D61s

o X
,\%'O equal to:
1) 16 2 18 BEErE O /\s 1) 16 2) 18 2%y )
- 'H:‘ gl@w
3) 32 4) 36 @, ()/’z 4 36 RT3
\%0,( 26 _ gt 2
*

74. wH @R 12 fhadex & ga 3 f " 74. A person coveréglz km at 3 km/hr,
srﬁrsrva,lsmhﬁmzﬁrg’&em ¢ 18 km at 9 km@|r and 24 km at 4
ufy guer @er 24 FeaMieX @ g0 4 | ©g . km/hr. The average speed in
;ﬁb“fﬁ gfer goer /@ g &Il % | H‘T"[ QQ/O covermg the wﬁgle d1stance is: | (k‘\-‘(\\.
g0 a9 HE H G A 4
1y 4 Refi/ave 2) 4.2 Rl > )tk 2) 42km/hr g ¥
3) 4.4 fedl/aue 4) 4.5 Bell/avE ’ 3) 44km/hr 4) 45km/hr

[Level-2 /1202 ] R P.T.O.
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16.

11.

s
%4
5. o o Peed § A R @AW
P |
1) @ 2) aﬁﬂﬂ
3) R 4)
o 16-4=209-3=281-3=4
2, & 644 HAM & :
1) 3 ®©2) 2
-3) 4 N4 6
wmavﬁ%fgma% X
DBC, KIJ, QOP, , ZXY -

1) VUW 2) USV A
3) UTV- 4) - VTU

18.

19.

80.

R e fT

'CEOPRT' a1 'PLANE' & 'ELNP'
Rrar ol ¥, O 'ORGANISED' & S8l
e - e SR e ST ?
1) ADEGIOSRc2) ADEGIROS
3) ADEGOIRS] Y ADEGIORS

ey
¥
é,i
¥

a1 § 'PROJECT' &I

N .

15.

16.

1.

18.

19.

80.

S
[ gk,
p 3y North-East 4) South-East

g

Find the odd word from the given

. alternatives :

1) Violin 2y Harp

3) Guitar 4) Flute

If‘16—4=2,9—3=2, gl -3 =4,
then the value of 64—-41is:
1) 3 2) 2

/3/4 4 6

The missing term of the following

series is :

" WppE K1, QOP, 2, ZXY
1) VUW 2) - USV

3) UTV VTU

1f"PROJECT is coded as 'CEOPRT
and 'PLANE' is coded as 'ELNP' then
“the 'ORGANISED' will be coded
as: ' '

1) ADEGIOSR 2) ADEGIROS
/SKADE,GOIRS. 4) ADEGIORS

In a row of boys,rrA is 7th from the
left and B is 12th from the right. If
they interchange their positions A
becomes 22nd from the left. How
many total boys are there in a
row ?

1) 27 ay”s1 gﬁ
3) 33 4) 34 :
A u’avgls 8 km from East to West and
turns right and travel 2 km. Now
again he turn right and travel 5 km. In
swhich direction is he now positioned

with reference to starting point ?
1) South-West -2) North-West

== e
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82.

83.

84.

85.

86.

WA 3 Rew R A,

1) SFRR SRy omer

2) Sfo FER Rig

3) A ooy gy

4) AN FAEY querg

gﬁ?arun TP de dw e R
1)j?rﬁa'
3) "WewTe 4) T

iotﬁoQ'Ho'fﬁo % a'q'{ﬁ-;f W‘h W
q BT F o 5 &

1) o To amo fepees

2) A1 IIRR & it
3) %ﬁeﬁoq?{oam
4) Al TEER ygE

o 3R
A gt
SRS fopar o ? '
) §@FI | 2) g
3) FAW 4) IR
gRaen | fhael dedie E7

1) 95
3) 143

TEd H HEd B SAE ERE
HEal § S s &g sRaren
Wamaarémﬂé’rm%:

1) ¥ wEd AW A g

2) A faEa v R

2) 49
4) 74

8) AW gl A farEd

4) BN oA

[Level-2 /1202

8l. Who is

83. The

o “ .
L
T
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the Chief Information
Officer of Haryana ?

1) Smt. Jyoti Arora
L. Jagbir Singh

3) Shri Vijay Vardhan

4) (&r;nt. Kamaldeep Bhandari
o

82. In Haryana, where the Vulture

Con_servatigr_t_CenAtrii?ogated 2
1) Jind ) Pinjore
3) Mahendragarh 4) Ambala

UPSC © Chairman, who
subsequently became the Governor
of Haryana :

v 1) Br/A. R Kidwai

[ . ;
2) %‘L\fi Muzaffar Husain Berney

| Mn B. N. Chakravarti

4) zS’hn Mahabir Prasad

Q
84‘ In which dlStIlCt of Harya.na the
Khelo India Women's Archery
ranking competition was organised ?
Xy~ Sonipat 2) Panipat
- 3) Karnal 4) Yamunanagar
"~ 85. How many Tehsils are there in
f - Haryana ? .
1~ 95 2) 49
3) 143 4) 74

86. The?écheme which is being run by
the X , Haryana government to
reptape paddy crop with more
tradat,}lon crops is :

1) Meri Fasal Mera Byora
2) Meri Virasat

-3 Mera Pani Meri Virasat
4) Hamara Dhan

-E P.T.O.
o

pegese
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81.

88.

89.

90.

BRI § A sReege ol B
TS W et Re B 7

1) gg 2) ST
3) g 4) FER

g & Fefifen w6 & @ @
TR SR & A @ Ay & ?

<
1) T A Y
2) 1R T
3) aE AR Fe
4) TE T T

BIAT &l A GEiedt & ey L

1) SREE e q

2) i%g@avj@ﬁrﬁ

3) mﬁwm%
4) %qma%mﬁzsm%

1857%%&1@%% Rrforea
%mﬁmﬁﬁr&&rmw
SHA fopar 7 -

87. Where in the Haryana, the Nationy,

88.

89.

Institute of Fashion Technology is
located ?

-1§ Panipat
3) Panchkula

2) Ambala
4) Kurukshetra

Who among the following Sages of
Haryana was popularly known asg
Puran Bhagat ?

1) Baba Mast Nath

2) Baba Gorakh Nath

3)'. Baba Chaurangi Nath
_4y"Baba Puran Nath

The Morni hills of Haryana belongs

to:
“i’)/Aravalli range

90.

2) . Hindukush range

3) Outer range of Himalayas

4) Inner range of Himalayas
During the revolt of 1857, whao

among the following attacked
British establishments in Rohtak ?

[ Level-2/1202] :‘"

1) %A ga 1) Tafzal Husain
2) M 3w 2) Imam Ali gk
3) WX e 3) Mohar Singh ©
4) TgE W@ 4)" Harsukh Rai
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&‘L‘l‘ﬂ Answer the following questions by selecting the most appropriate option

pirection : Read the following passage

and answer the questions that follow
(Questlon Nos. 91- 95)

It was mormng, and the new sun

sparkled gold acrogg the ripples of a
gentle sea.

A mile from shm:e > a fishing boat
chummed the waterQ) and the word for
Breakfast Flock flashed through the air,
till a crowd of a thousand seagulls came
to dodge and fight for bits of food. It t was
~another busy day beginning.

But way off alone, out. by himself
beyond boat and . shore, Jonathan
Livingston seagull <tvas practising. A
hundred feet in the he lowered his
webbed feet, lifted "his beak, . and
strained to hold a pinful hard twisting
curve through his{yvings. The_ curve
“meant that he would fly slowly, and now
he slowed until the wind was a whisper

in his face until the ocean stood still

beneath him. He narrowed his eyes in
flerce concentration, held his breath,

........ Qrve ......... Thenh1s
feathers ruffled, he s‘é%lled and fell.

Seagulls, as youknow, never falter,
never stall. To stall { the air is for them
disgrace and it is dishbnour.

But Jonathan Livingston Seagull,
unashamed, stretching his wings again in
that trembling hard curve - slowing,
slowing, and stalling once more — was no
ordinary bird. asy?

[ Level-2/1202] :=:

than the simplest facts of fhght

Most gulls don't bother to learn more

how to
get from shore to food and back again.

For most gulls, it is not flying that

. matters, but eating. For this‘gull, though,

it was not eating that r_natt_efedj but flight.
More than anything else, Jonathan
Livingston seagull loved to fly.

This kind of thinking, he found, is not

the way to make one's self popular with

other birds. Even his parents were

dismayed as Jonathan spent whole day
alone, making hundreds of low-level

glides, experimenting.

91.

i,

For Jonathan Livingston flying
was :

Y Tife itself

2) a matter of

shame and
disgrace

3) means of finding food
4) way to make one-self popular

92. Choose appropriate antonym for

'gentle’ from the passage :
1) Falter

vz’)/ Fierce ﬁ
3) Twisting
4) Concentration

P.T.O.





